Subtraction

Name:

Warm Up

1) 35-16= 4) 56-29-=
2) 142-99- 5) 157-38=
3) 270-85= 6) 267-52=

7) 650-125=
8) 836-327-

9) 4000- 2560~

1) Melissa has 45 marbles and Marshall has 19,
How many more marbles than Marshall does
Melissa have?

6) There are 18 students waiting for a bus. 69
students get on the first bus and the rest wait for the
second. How many students wait for the second
bus?

2) Jackis 139 cm talland Alfred is 99 cm. What is
the difference in height between Jack and Alfred?

7) Greg has $2 000. He buys a camera that costs
$770. How much money does Greg have left?

3) The teacher bought 220 marbles for grades 3
and 4. There were 96 marbles for grade 4. How
many marbles were left for grade 3?

8) Ahmed needs to peel 550 potatoes. He has 166
poftatoes left fo peel. How many potatoes has he
peeled so far?

4) There are 34 quests at a party. 27 are adults
and the rest are children. How many children are at
the party?

9) The total weight of two crates is 3000 kg. If
one crate weighs 1 850 kg, how much does the
other crate weigh?

5) Angela has 142 stamps. She gives 29 stamps to
Louise. How many stamps does Angela have left?

10) Inmy school there are 967 students. If there are
507 boys, then how many girls are there?
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